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All questions are compulsory.

Questions number 1-5 are of 1 mark each. The answers to these
questions should not exceed 20 words each.

Questions number 6- 10 are of 2 marks each. The answers to these
questions should not exceed 40 words each.

Questions number 11- 16 are of 4 marks each. The answers to these
questions should not exceed 100 words each.

Questions number 17 - 21 are of 5 marks each. The answers to these
questions should not exceed 150 words each.

Question number 21 is a map-based question. Write its answers in your
answer-book.

Questions number 22 - 27 are of 6 marks each. The answers to these
questions should not exceed 150 words each.

TIH TSI ST 4 9/11 % gHA! 1 SaTd hdl feaT ?
How did the U.S. respond to the 9/11 attacks ?

aifora sTedeaeen du Siiard Adeyaren & &9 frdfl & @ =R &l
ISR T |

Highlight any one major distinction between the Soviet economy and the
Capitalist economy.
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11.

12.

13.
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3T gl dh HgHd & foh ST <hl =9 4 WRA | SRl & HoTcH
forawor =t HASIR foham 2 2 1

How far do you agree that the proclamation of emergency weakened the
federal distribution of power in India ?

“gretaTe, |TIETTHehal  THM WatTh a1 8 |7 =i Sasy | 1
Justify that “Regionalism is not as dangerous as Communalism”.

S AN AT R H=d 7 R G 370 1 THIE AT AT 2 1
Why do some people feel that Article 370 should be revoked ?

JeteRTuT o Toheel &1 ATl 1 Ieaid hiT | 2x1=2

Mention any two benefits of globalisation.

TFRE | 3T%8 Y S o 0T IS g 3T AT | 2x1=2

Suggest any two measures to have good relations with Pakistan.

Sy i fhH fafsmear 3 wRa & Tdadn i o R, 39 U [I=NicHs
TES-E ST 2 2

Which characteristics made the Congress an ideological coalition during
the freedom movement of India ?

T T < god Aequl IRomy 6t 9g=H i | 2
Identify the most important outcome of the Rio Summit.
HifoRId €9 o oo | T UsA U H¥ ArHif<ad gt ? 2

How was the U.S. benefited by the Soviet disintegration ?

1980 o Uv=Tq AR foram Jf=m gra <t 718 foregl =m wimi &1 auia Hifvw |

4x1=4
Describe any four demands made by the Bharatiya Kisan Union after
1980.

JIH YT ST 3 o seadia I o 9 s o =R fafau | 2x2=4

State any two differences between the First Five Year Plan and the
Second Five Year Plan.

fossfaai =1 = Sed & o foaw @ gl afifeafat it samen hifve |
frsarelt IROTITRRIT <t TEEAT T W WRA 1 HRT hl IR HIMT | 2+2=4

Explain the circumstances that forced the Tibetans to leave China.
Highlight India’s role in helping the Tibetan refugees.
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14. IREIREh G 6l AT Td TRl 9RO H 3= Tase i | 2+2=4

Distinguish between the internal and external notion of traditional
security.

15. TSHYT ThR Ueh-eild ThRI hl ol | fohd TR Afeeh dArshaiteh fog i
g°? 4
In what way do the coalition governments prove to be more democratic
than the one-party governments ?

16. “Teha—= <o @ o & bl Y8l 9Ee S9dT ST @1 & | 39 hd i
g 38sy | 4

“Democracy is becoming the first choice of the people of South Asia.”
Justify the statement.

17. =9 fou MU st & ermgde e hifve it frefafed e % 3@
SIS
ey €1 91d 98 7 b WINER TSl o GHieq § fafvear < frgra & w&iisfd
fueft | 99 &7 w8d 8 fo5 WA I Sehds RN B, 1 SHeRT HUT-1 qdas SadT
WS A B IRG § dehditie SRUM W ST 811 § i¥al YRd § g
AT ST & | AT o Alhdih 8- I Teh Jaa A 7 | Tlhad i I
1 o7 fafrarett 1 ugemA 3R 3% TR ST | A1 &, I8 HHH Il
fop favrrarati o ool oy off 81 Hehd & | GEX WGl H g A1 WRA H Alehad
1 gron fommi iR Sfaq-ugfadt sl sgarar & Jei 53 off |
1) 9IS TS | R AR 7 ?
(i) 9Rd § YNGR TS 1 SHIT 7T 2 13 g1 HROT TS T |
(i) WRA H A i fohE TR fo=ml 31 SeA-agfcdl 1 sgaa & e

T g ? 1+42+2=5

Read the given passage carefully and answer the following questions :

Above all, the linguistic states underlined the acceptance of the principle

of diversity. When we say that India adopted democracy, it does not

simply mean that India embraced a democratic constitution, nor does it

merely mean that India adopted the format of elections. The choice was

larger than that. It was a choice in favour of recognising and accepting

the existence of differences which could at times be oppositional.

Democracy, in other words, was associated with plurality of ideas and

ways of life.

) What is meant by ‘linguistic states’ ?

(i1)) Why were linguistic states formed in India ? Explain any two
reasons.

(i1i)) How is democracy in India associated with plurality of ideas and
ways of life ?
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F= ST T AT T AMYEH I hivg R Frfafad Tl 6 IW
IS L

T Hiced 3 Gt YT ¥ Serqee S e e 3t yfide
AN Bl € | 39 ST o THYeh A9 TSHIfdeh dA&dl ol BIEA i & fou
fEoe |eAl & AT % 9N U el od o | 39 99 ... UfTe| ST SRR 3
g TR gHd $3 FY HEH IO, Wik TGl HAGeH w6 T
ThT | TG % TTAl H I8 ¢ o hs 31T WM § et T |

()  Teucartedt 3 &9 & Y= S mafuehdr w4 & 2

(i) TEd1 o U & STES[E, TFIAATE G hl ThNIcHS fHehT
JhT HIT, |

(iii) 39 ST i U & g &l UGN | 142+2=5

Read the given passage carefully and answer the following questions :

The Naxalite Movement has used force to snatch land from the rich
landowners and give it to the poor and the landless. Its supporters
advocated the use of violent means to achieve their political goals. In
spite of the use of preventive detention and other strong measures
adopted by the West Bengal government ...., the Naxalite Movement did
not come to an end. In later years, it spread to many other parts of the
country.

(1) Why did the Naxalites prefer to use violence ?

(i1)  Assess the positive role of the Naxalite Movement in spite of using
violence.

(iii)  Suggest any two measures to contain this movement.

H= fou U sraar w1 eayde rereH dhifve st Fefifed wEl % W
@R -

Tefuerar it ifd sia Ig & ded 7 vt oft | ... difea w9 & foeed
3R 1991 # Sfta g hi THId o &Y &, Teh AU MGl R 9Hd hi
fagw fifq &1 g WeT % ¥4 W [elusar 6 IERehaT auT TNTEshiar §
et Y IR |
(i)  WRA A TeHTUeTar hi Hifd hl i TR ?

(i) TFRUR TG 1 TEAEhdr H &t 3T % foheal @ HRON I T

HIfT |
(iii) 9 HGl T HEHA 8 foh [FRUL ATGIeH, Teh FASI ATGIeH & T

27 142+42=5
5 P.T.O.



Read the given passage carefully and answer the following questions :

Non-alignment as a strategy evolved in the Cold War context.
.. with the disintegration of USSR and the end of Cold War in 1991,
non-alignment, both, as an international movement and as the core of

India’s foreign policy, lost some of its earlier relevance and effectiveness.
) Why did India adopt non-alignment ?

(ii)) Explain any two reasons for the loss of its relevance by the
Non-Aligned Movement.

(iii) How far do you agree that the Non-Aligned Movement has become
an international movement ?

20. R fou MU HA w1 emyEs semeH #ifvw qur Frefafed v % 3w
IS

() I A g 3w @ wafea 2 2
(i) 38 ®ed H fou mu fom @ weftenl 3 el Q@ B wgEEA HoSaeR

eIl 6l 8 ?
(iii) TG I TATIT < I, JET T hl ToHITT H FohE T R @@
77 142+2=5
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Note :
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Study the cartoon given below carefully and answer the following questions :
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(1)
(ii)

Which country does the given cartoon refer to ?

Identify the two symbols in this cartoon which have given you the
clue about the related country.

Where does the cartoon place the related country in the
international power politics ?

(iii)

HETCTRIT 597 FaeT GIRETIT Ghemiorar & o7g, Jo7 G837 20 & €7 W& |
The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20.
(20.1) WTETET G g S TR & forel T w1 AW fofau |
(20.2) < UH wfmr o % T fafeu, S wE A fava B s g8 wfwat
HqEd € |
(20.3) =7 WHR gAI Sl fferaeen H dfvesh T W Gl oH % fore
33T T foheal G haHl ol HedATeh i | 1+42+2=5
(20.1) Name any one country of Asia ruled by the Communist Party.
(20.2) Which two Asian countries consider themselves as the emerging
global powers ?
(20.3) Evaluate any two steps taken by the Chinese government to open
its economy to the world.
7 P.T.O.



21. feu U wraE & UsHifas WEwmtE |, o s sl @), @), ©, © aur

® g fafea form mn 2 | 9 & 78 IR % SMER W 3R TgEE I
M ITRYFERT H Ik TEl 19, ITh! A TN qAT Traf-od MeR dfgd

fofau - 5x1=5

68° 72° 76° 80° 84° 88° 92° 96° 100°
T 1 T 1 1 T 1 1 1

38° 36°

32°

32°

28°

28°

24°

24°

200 20°

160 ‘IED

8°f g°

km100 0 100 300 500 km

720 760 50° 54 56 52° 56°
(i) 98 U o 7y Uew § @ I L S TR |

(i) 98 TS - Taaeal o q9aTd WA H I+ foere o1 foig fomam o |
(ifi) s WRd W GTETe) TR gRT IMfEd 9gelt T |

(iv) 19718 Y& TR T & HeT §311 T |

(v) BN I o SR N < &F § FYg a9 a1a T |
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In the given political outline map of India, five States are marked as
@), ®, ©, O and ®. Identify them on the basis of the information
given below and write their correct names in your answer-book with their
respective serial numbers and the alphabets concerned :

68° 72° 76° 80° 84° 88° 92° 96° 100°
1 1 T 1 T T 1 1 1

32°

28°

24°

20°

.r""\_

o/

N
“’\) Sy

32°

28°

24°

20°

12°

80

km100 0 100 300 500 km

1 1 1
72° 76° 80° 84° 88° 92° 96°

1)
(ii)
(iii)
(iv)
v)

The State which was carved out of Madhya Pradesh.

The State which opposed its merger with India after independence.
The first State of free India having a Communist government.

The State adjoining Pakistan territory up to 1971.

The State which became agriculturally prosperous due to Green

Revolution.
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e : el 397 &aet giEaniaa ghemaal & o, Jv7 G&qr 21 & T |
g/

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Question No. 21.

(21.1) TEaar | qd Tg-asg 1 fagra’ fopd Torifae g o feam ot ?
(21.2) W =R Wargl % AW faflgy {98 Taasrdr & qearq. 9RdE g9 |

o =1 feriy feparm o 2
(21.3) I Y AR IS ¥ HE H 99N JH Iid Th-Ush TS hl W
fetfiae | 1+242=5

(21.1) Which political party advanced the ‘“Two Nation Theory’ before

independence ?

(21.2) Name four Princely States which resisted their merger with the

Indian Union.

(21.3) Name one State each which was carved out of Uttar Pradesh and

Punjab.

22, YRd HTHT g YA o fFrfiemor sl T & fow 33 U fopedl 9 shenl
19U Hifsr | 3x2=6

arera
Toreft =1 1 TRl TR TRl o B aTcl fohral oA STET 3Rl UM 1T | 3x2=6

Describe any three steps taken by the Indian Government to check the
environmental degradation.

OR

Describe any three effects of globalisation on the culture of a country.

59/1 10
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24.

25.
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et Tt & AfaH gueh # W TSI | - 1 T " g9él ? aud

HIfT | 6
AT

ARG <hl Tl & o, fbfern & aRa H faoi@ de i harl 1 Fieed auH

T | 6

Which three major developments took place in Indian politics during the
last decade of the 20" century ? Describe.

OR

Briefly describe the story of Sikkim from the time of India’s independence
to its merger with India.

1969 H IE el & fawrsH & fRegl T SRoT 1 Tawe iU | 3x2=6
arera
1980 o TEATA(Y THTE! o foiu IRl ufifeyfast i s men Shifvw | 6

Explain any three causes of the split in the Congress Party in 1969.
OR

Explain the circumstances that led to the mid-term elections in 1980.

= efifve fe sfia gg 7€ g, @ v feufa § vma B fagw Aifa wown

U9TE 9T ? 6
YT

Ife difeera g &1 foaes 98 grar ok fava fg-gefia s war, o vt feafa o

Torva ToHifa = g v 2 6

Suppose there had been no Cold War, how would that situation have
affected India’s foreign policy ?

OR

If the Soviet Union had not disintegrated and the world had remained
bipolar, how would that situation have affected the world politics ?

11 P.T.O.



26. TIH UY FET UG H YRA 6l TARN TEIa1 & 9§ H Hig 9 ITYH b

AN | 3x2=6
AAAT

de g % @nT % wEE o Aol @ fRE TRR TEel gl § @ A

AT o Wl 9 AT 2 ? 3794 I o 97 § IeELr SIfu | 6

Give any three suitable arguements to support India’s candidature for
the permanent membership of the U.N. Security Council.

OR

How are the threats faced by the people in the Third World different from
those faced by the people living in the First World ? Support your answer
with examples.

27. UYH TS TR & goed & fova W UeHifae qurat i favermo i | 6
AT
I T o Afd T9TERIT ST e a4 o e ITReRt fehedl o hitenl
1 Ty i | 3x2=6

Analyse the political impact of hegemony of the U.S. on the world.
OR

Analyse any three factors responsible for the European Union to be a
highly influential regional organisation.
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